Operations with Roman Numerals (C)

10.

Answer each question in Roman numerals.

. XCIX - XXXII 11. LXXX +V

. LXT + XXI 12. LXII - XXX

IV x VII 13. XCIV - XXII

. XxV 14. V x 111

. XCII - LV 15. XCVII - VII
XX=+V 16. Vx IX
C+XX 17. XXXVII - X
XXXIIT + XX 18. XCIX - XXXIII

. VII x XIV 19. XCI =+ XIII
LXIV + VIII 20. XXXII + VIII
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Operations with Roman Numerals (C) Answers

10.

. XCIX - XXXII

= LXVII

. LXT + XXI

= LXXXII

IV x VII

= XXVIII

. XxV

=L

. XCII - LV

= XXXVII

XX=+V
=1V

C+XX

XXXIIT + XX
= LIII

- VII x XIV

= XCVIII

LXIV + VIII
= VIII

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answer each question in Roman numerals.

LXXX+V
= LXXXV

LXII - XXX
= XXXII

XCIV - XXII
= LXXII

V x 111
=XV

XCVII - VII
=XC

V x [X
= XLV

XXXVII - X
= XXVII

XCIX - XXXIII
= LXVI

XCI = XIII

= VII

XXXII + VIII
=1V
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